
Graphing Trig WS #4   Name_____________________________________Period_____ 
Graph each of the following on the provided graphs.   

1. 𝑦 = 3 csc 3𝑥       2. 𝑦 = −2 sec 2𝑥  

    

 

3. 𝑦 = csc
𝑥

2
       4. 𝑦 = sec 2𝑥 + 1 

   

 

 

5. 𝑦 = csc (𝑥 +
𝜋

3
)      6. 𝑦 = sec (2𝑥 −

𝜋

4
) (FACTOR!) 

   
  

  



7. 𝑦 = 4 tan 𝑥       8. 𝑦 = − cot
𝑥

2
 

   

 

 

9. 𝑦 = 2 tan(2𝑥)      10. 𝑦 = cot 3𝑥  

   

 

 

11. 𝑦 = − sin (2 (𝑥 −
3𝜋

2
)) + 3      12. 𝑦 = 2cos (

1

2
(𝑥 −

𝜋

6
)) − 1 

   

 


